Part number: HYDROMA HYDROMA

HYDRAULICKE SYSTEMY  UKLADY HYDRAULICZNE TUAPABJINYECKUE CUCTEMbI

unidirectional motor - series XV XV-2U

STANDARD EUROPEAN MOTOR
836.5 FLANGE - TAPER SHAFT

'X|[2|u|s51|02|E|P|O|A]|

Series X  series XV
Group 2 group 2
Category U unidirectional motor
Displacement 51 17
Flange 02  3@36.5 STANDARD EUROPEAN right rotation
Shaft E CO001 - Tapered 1:8 - 817.4 - M12x1.5 - key thk.4
IN P inlet- @40 @20 M8
Body
OUT| O  outlet-@30213.5 M6
Cover A standard

Technical data table

TYPE Displacement Max. Pressure #Q CODE Q#
cm3/rev P1bar | P3bar Left rotation Right rotation
XV-2U/04 4,20 260 300 X 2U4101EOOAJX 2U4102EOO A
XV-2U/06 6,00 260 300 | X 2U4301EOO AfJX 2U4302EOQ00O A
XV-2U/09 8,40 260 300 | X 2U4501EOO AfJX 2U4502EOQ00O A
XV-2U/11 10,80 260 300 | X 2U4701EOO AfJX 2U4702EOQOO A
XV-2U/14 14,40 250 290 | X 2U4901EPO AfJX 2U4902EPO A
XV-2U/17 16,80 230 270 | X 2U5101EPOAJX 2U5102EPO A
XV-2U/19 19,20 210 250 [X 2US5301EPOAJX 2U5302EPO A
XV-2U/22 22,80 200 240 | X 2US5501EPO AJX 2U5502EPO A —_— @ 174
XV-2U/26 26,20 170 210 | X 2US5701EQP AfX 2U5702EQP A _ M12x1.5
XV-2U/30 30,00 160 200 [X 2UB5901EQP AIX 2U5902EQP A %
XV-2U/34 34,20 150 190 X 2UB101EQP AfJX 2UB102EQP A
XV-2U/40 39,60 140 180 | X 2UB301EQP AJX 2UB302EQP A ﬁ %
P1) Max. working pressure - P3) Max. peak pressure . 36,5 f7 (503)
For heavy-duty applications, it is recommended to check the admissible torque of the shaft ’ \ 3
<11:8 K
Dimensions table T2 \@
o w
TYPE Weight A B c D E F D E F m\ﬁ - N
kg mm mm mm IN out \ \ \ | o
XV-2U/04 2,200 87,2 | 41,7 | 77,2 | 813,56 |30 M6x1 213,5 | 30 M6x1 o 3. I ~ $—
XV-2U/06 2,300 90,2 | 43,2 | 80,2 | 213,5|30| M6x1 213,5 |30 M6x1 ~ i

XV-2U/09 | 2,400 | 942 | 452 | 842 | 13,5|30| M6x1 | 213,530 Méx1 o 9 S\D o[ w
XV-2UM1 | 2,500 | 982 | 47,2 | 882 | #13,5|30| Méx1 |213,5|30] Meéxi
XV-2UM4 | 2,700 |104,2| 50,2 | 942 | 213,5|30| M6x1 | 220 |40| M8X1,25

XV-2U/17 2,800 108,2 | 52,2 | 98,2 | 13,5 |30 M6x1 220 |40| M8X1,25 i l w
XV-2U/19 2,900 112,2 | 54,2 | 102,2 | 13,5 |30 M6x1 220 |40| M8X1,25 15.7
XV-2U/22 3,050 118,2 | 57,2 | 108,2 | 13,5 |30 M6x1 220 |40| M8X1,25 ’ TA

XV-2U/26 3,150 122,21 59,2 | 112,2 | 220 |40| M8X1,25 | 23,5 |[40| M8X1,25
XV-2U/30 3,400 130,2 | 63,2 | 120,2 | 220 |40| M8X1,25 | 23,5 |40| M8X1,25

96,2
8,75 32,4 63,8 8,75
XV-2U/34 3,600 137,2 | 66,7 | 127,2 | 220 |40| M8X1,25 | 23,5 |[40| M8X1,25 Z

E———
XV-2U/40 | 3,800 |146,2| 71,2 | 136,2 | 820 |40| M8X1,25 | #23,5 |40| M8X1,25 = @ @
~
[te)l
w| ™ ) —
)| ~ 8 [« >]
= = ] 4 r
M| == 2
n
o
\é% @)
26/08/04 X2PS102EPOAdft
T.1 = 54+58.9 [Nm] - screw tightening torque M10 T.3 = 40 [Nm] - torque wrench setting 19

T.2 = 233.2 [Nm] - admissible shaft torque (N.B. When choosing a shaft, always check the admissible torque).



Table of variations

236.5 FLANGE

Xv-2U

236.5 FLANGE Shaft Cover
Left rotation | Right rotation Left rotation Right rotation
CI001 - Parallel Cl002 - Parallel
01 02 T2=441[Nm] |p| T2= 37.25 [Nm]
§| % 4 E 4
L
. | 6,45, 3£_E 8.7] 123 8# @
T | CO001 - Tapered C0002 - Tapered
- 19,5 o
: o | 47257520 e
T ¥ -
. 6.45 125 i \M
| 24,5
T [ SCFO02 - Splined SCFO03 - Splined
T.2=86.1[N . T.2=86.1[N
08| | nipzeo V™ |G| 127501 Nm]
DIN 5482 - 17x14. b= DIN 5482 - 17x14 b=
6,55, 13 6,55, 18.8
| SCF04 - Splined SCF01 - Splined
T.2=67.1[Nm] | T.2=286.2 [Nm]
08 SAE J 498 =16 79
9T 16/32 DP f; DIN 5482 - 17x14
~ § =
o o 2 5 g
ING 12 OouT @ 12 s s
10 225 821 118
Displacement Standard bodies
TYPE CODE Displacement cm3/rev| Standard threads
XV-2U/04 a1 4 O-0| S-R | B-B|L-M| Z2-Z
XV-2U/06 43 6 O-0| S-R | B-B|L-M| Zz-Z
XV-2U/09 45 9 O-0| S-R | B-B|L-M| Zz-Z
XV-2U/11 47 11 O-0| S-R | B-B|L-M| Zz-Z
XV-2U/14 49 14 P-O|S-R|C-B|L-M| Z-Z
XV-2U/17 51 17 P-O|S-R|C-B|L-M| zZ-Z
XV-2U/19 53 19 P-O|S-R|C-B|L-M| zZ-Z
XV-2U/22 55 22 P-O|S-R|C-B|L-M| zZ-Z
XV-2U/26 57 26 Q-P | S-R|D-C|L-M| Z-Z External drainage
XV-2U/30 59 30 Q-P| S-S | D-C|L-M| 2zZ-Z
XV-2U/34 61 34 Q-P| S-S | D-C|L-M| 2zZ-Z
XV-2U/40 63 40 Q-P | S-S | D-C|L-M| Z-Z
Table showing standard flange and thread
combinations available in stock
Body (threads/flanges)
3/8"BSP 1/2'BSP 3/4"BSP 1"BSP M14x1,5 M16x1.5 M18x1,5
A B C D F
M20x1,5 M22x1,5 1-16"-12UNF 7/8"-14UNF 1-5/16"-12UNF M6x 1 M1 25
g A S
H I L M ES O| 8|5 p
@30 @40
M8x1.25 M6x1 M6x1 _ M6x1 L,J M8x1.25 B M6x1
L0 > ol o o
o N w (S - S, < ~ w© | @ gmg | @ Closed
g4y |a RN&ZQ s|§ [O]8 T & JO] SugolEv ges
P9 g0 @35 | 2 40 48 38 38




unidirectional motor - series XV

STANDARD EUROPEAN MOTOR
236.5 FLANGE - TAPER SHAFT

XV-2U

/X|2|U|51/02 E/C|B A|

T.1 = 54+58.9 [Nm] - screw tightening torque M10
T.2 = 233.2 [Nm] - admissible shaft torque (N.B. When choosing a shaft, always check the admissible torque).

T.3 = 40 [Nm] - torque wrench setting 19

26/08/04

Series X  series XV
Group 2 group?2
Category U unidirectional motor
Displacement 51 17
Flange 02 236.5 STANDARD EUROPEAN right rotation
Shaft E  COO001 - Tapered 1:8 - 817.4 - M12x1.5 - key thk.4
IN C inlet-3/4" GAS
Body
OUT| B  outlet-1/2" GAS
Cover A standard
Technical data table
TYPE Displacement | Max. Pressure %Q CODE Qé
cm3irev P1bar | P3bar Left rotation Right rotation
XV-2U/04 4,20 260 300 X 2U4101EBBAJX2U4102EBB A
XV-2U/06 6,00 260 300 [ X 2U4301EBB AJX 2U4302EBB A
XV-2U/09 8,40 260 300 (X 2U4501EBB AJX 2U4502EBB A
XV-2U/11 10,80 260 300 [ X 2U4701EBB AJX 2U4702EBB A
XV-2U/14 14,40 250 290 | X 2U4901ECB AJX 2U4902ECB A 9.4
XV-2U/17 16,80 230 270 | X 2U5101ECB A|X 2U5102ECB A ¥
XV-2U/19 19,20 210 250 | X 2US5301ECBA|X 2U5302ECB A
XV-2U/22 22,80 200 240 [ X 2US5501ECBAJX 2U5502ECB A @ 17,4
XV-2U/26 26,20 170 210 | X 2US5701EDC A|X 2U5702EDC A M12x1.5
XV-2U/30 30,00 160 200 |[X 2U5901EDC AjJX 2U5902EDC A
XV-2U/34 34,20 150 190 | X 2UB101EDC AjJX 2UB102EDC A —
XV-2U/40 39,60 140 180 | X 2UB301EDC AJX 2UB302EDC A ﬁ %
PI1) Max. working pressure - P3) Max. peak pressure T3 36,5 7 (506)
For heavy-duty applications, it is recommended to check the admissible torque of the shaft ' \ g
<11:8 N
Dimensions table T2 4\:@
TYPE Weight A B c D D m\\ﬁq 2
NG N
kg mm mm mm IN out ©
XV-2U/04 2,200 87,2 417 77,2 1/2" BSPP 1/2" BSPP o (‘:‘) fé"
XV-2U/06 2,300 90,2 43,2 80,2 1/2" BSPP 1/2" BSPP -
XV-2U/09 2,400 94,2 45,2 84,2 1/2" BSPP 1/2" BSPP &) /@]D fa)
XV-2U/11 2,500 98,2 47,2 88,2 1/2" BSPP 1/2" BSPP
XV-2U/14 2,700 104,2 50,2 94,2 3/4" BSPP 1/2" BSPP
XV-2U/17 2,800 108,2 52,2 98,2 3/4" BSPP 1/2" BSPP T “\J Y ams
XV-2U/19 2,900 112,2 54,2 102,2 3/4" BSPP 1/2" BSPP —— 15 7¢”“
XV-2U/22 3,050 118,2 57,2 108,2 3/4" BSPP 1/2" BSPP * TA
XV-2U/26 3,150 122,2 59,2 112,2 1" BSPP 3/4" BSPP
XV-20/30 | 3400 | 1302 | 632 | 1202 1" BSPP 3/4" BSPP a5 [mi. 5B -
XV-2U/34 3,600 137,2 66,7 127,2 1" BSPP 3/4" BSPP 4] N
XV-2U/40 3,800 146,2 71,2 136,2 1" BSPP 3/4" BSPP © @ Qg
o 3
SR @ &,
| !
AlsOelOr

X2PS102ECBAdf




XVv-2U

Table of variations

236.5 FLANGE

836.5 FLANGE Shaft Cover
Left rotation ‘ Right rotation Left rotation Right rotation
CI001 - Parallel Cl002 - Parallel
02 T2=441[Nm] |a| T2= 5742 [Nm]
%| g 4 ? 4
et &
§.£,+_3_ll)_E .87 23 sﬁ i
[ CO001 - Tapered CO002 - Tapered
o
04| | 1;121— 233.3 Nm] | g } T2= 239;2 [Nm] . §
~] h SN ¥ <115 v " =
EPEERR T S !
| &) | T % ue
6.45 12,5 8,65 ‘13 ® g
24,5 14,3
] SCFO02 - Splined SCFO03 - Splined
o
T.2=286.1[N . T.2=86.1[N 7]
06| | .o poo M @] 127 86T INmI 2
DIN 5482 - 17x14 = DIN 5482 - 17x14 = =
\ouT
6.55, 13 6.55, 18.8
| SCF04 - Splined SCF01 - Splined
T.2=67.1[Nm] | T.2=86.2 [Nm]
08 SAE J 498 m=16 2z=9
9T 16/32 DP. =§ DIN 5482 - 17x14
12 S g Y
10 225 82 1.8
Displacement Standard bodies
TYPE CODE Displacement cm3/rev Standard threads
XV-2U/04 4 4 O0-0|S-R|B-B|L-M| zZ2-Z
XV-2U/06 43 6 0O-0| S-R|B-B|L-M| zZ-Z
XV-2U/09 45 9 0O-0| S-R|B-B|L-M| zZ-Z
XV-2U/11 47 11 0O-0| S-R|B-B|L-M| zZ-Z
XV-2U/14 49 14 P-O|S-R|C-B|L-M| Z-Z
XV-2U/17 51 17 P-O| S-R|C-B|L-M| Z2-Z
XV-2U/19 53 19 P-O| S-R|C-B|L-M| Z2-Z
XV-2U/22 55 22 P-O| S-R|C-B|L-M| Z2-Z
XV-2U/26 57 26 Q-P | S-R|D-C|L-M| Z-Z External drainage
XV-2U/30 59 30 Q-P | S-S | D-C|L-M| Z-Z
XV-2U/34 61 34 Q-P | S-S | D-C|L-M| Z-Z
XV-2U/40 63 40 Q-P | S-S | D-C|L-M| Z-Z
Table showing standard flange and thread
combinations available in stock
Body (threads/flanges)
3/8"BSP 1/2"BSP 3/4"BSP 1"BSP M14x1,5 M16x1.5 M18x1,5
A B C D Jéf F
M20x1,5 M22x1,5 1-16"-12UNF 7/8"-14UNF 1-5/16"-12UNF M6x1 Mé8x1.25
H I L M é E O 8¢ 4
’ | @30 5 gao
M8x1.25 M6x1 M6x1 _ M6x1 M8x1.25 M6x1
0 > ol
B ARy 0 (N (Y P G{:\‘d‘ S < © lw| | w0 1w Closed
SEEs Q RN&Q S| § OL8 T 1Ol Hug [O] |V Body

www.hydroma.cz

www.hydroma.eu

www.hidromasistems.pl

4



	073-XV-2U(36,5 Flange)-1
	073-XV-2U(36,5 Flange)-2
	073-XV-2U(36,5 Flange)-3
	073-XV-2U(36,5 Flange)-4

